2014/15 The 10" Hong Kong Mathematics Creative Problem Solving
Competition for Primary Schools (Heat - Written Test)

Answer Sheet

CPS-ID: Session: Seat No.:
Score:
Answer Score
1. e e
S = Figure (1) 12
2. a. Asquare of area2 cm?® | b.i. A square of greatest possible area:
. Figure (2d) : ) Figure (2€)
Ii.  Area of this square is cm?. 13
3. The shape of the remaining part:
Figure (3c) /2
.. . /2
4. 2015.0207 +0.123 =
5.  The length of side of the square B is 2
: /2
6. Areaof AKEH is
7. The results of the three other races were as follows:

1St

2I’ld

3I’d

4th 1St 2nd 3I’d 4th 1St 2I’ld 3I'd 4th

/3




8. a. When Johnny jogs from A to B, cyclists will overtake him.

b. On his way back, Johnny will meet more cyclists. 13

9.  The way that has the greatest number of terms in the sum:

2015 = + + o N /3

10. a. Peter has ways to make the decoration.

b. Paul has ways to make the decoration.

: 14
c. Mary has ways to make the decoration.

11. a.i. The last three numbers in the list were , and

11.The fraction immediately before % was and the fraction

immediately after % was

iii. Starting with % , there was an unbroken chain of

fractions with numerator 1.

/6
b. In the list on day 29, there would be numbers in the list.

12. a. The area of AXYZ is cm?.

b. In Pattern , the total area of the grey regions will first /4
exceed 9000 cm?,

13. a. The least possible weight of C is kg.
[] Not possible.
Or (Use a v to choose the correct option.)
[1 It is possible. The weights can be calculated after weighing

on the weighing scale. /4

14. [Cover the finished product with the paper cup. Raise your hand to

invite the invigilator to come to your desk to grade the product. ] 3

Total /43
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8. a. HHR{E AREF| B g
b. {E[E[EHRE E - il X Ei

HREREEIE Al -
HRELEL o

/3

9. H EmZBEEMINEE:
2015 = + + + ... + /3

10.a. E3CH (ERNEIPapEEIDES:
b. FoA (ERNEIPApE D &S

c. EBH FER 5] 75 40 o - /4

1. EHFF % 3TEE \ il
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b. 5 29 KEJBHIIEA i - /6

12.a. AXYZ WY HEIfEZ cm? o

b. HREZE o T B S Y TR P Gk 9000 em” 14

13.a. CHYE/INrfgEfBEE kg
b. O RAJEE -
£ (DL v $5 R IEHEAYEETE - )

O A3 SR - eESH—X o 8 WEE - 4
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. CORPE AREEIB o HAE 6 ESEE -

FEIR(BEEE F - S gE b 39 EREAE -

/3

A B ZIEBIINAE:
2015=_2 _+_3 +_4 + ... +__63

/3

10.a.

TOCH 5 FEA[EITT TR -
oA 10 FEAEJTAMH BT -
TFH 30 fEA[EJTIASH R -

/4

11.a.

UEBEITP R STER Al ;o

25’26
12

i BRI PHE  ZAIE o HHE ; ZRIE -

i, 7 —— BAfG » HA—EE _14 (BB THE 1 -
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12.a.

AXYZ fyEifEE _ 49 cmo

WEZE 7 G RS E Y i 9000 cm” ¢

/4

13.a.
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